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L - R HRIETER Cyiss BRER %) | RIS | R | RETES yiEa ARG | BIREE | R | RETES Cyiss AR %) | RIRER | R
(A) (B) B/ A*100 # () B+C (A) (B) B/A%100 | % (O B+C (A) (B) B/ A*100 % (C) B+C
AR 983 850 86.5 4 854 996 850 85. 3 5 855 1,072 897 83. 7 8 905
1B EIBE A 2 BIRIE R 202 167 82.7 0 167 212 174 82.1 0 174 214 174 81.3 0 174
BUETF 448 384 85.7 0 384 454 381 83.9 0 381 467 381 81.6 0 381
it 1,633 1,401 85.8 4 1, 405 1, 662 1, 405 84.5 5 1,410 1,753 1,452 82.8 8 1, 460
ok 505 394 78.0 0 394 522 417 79.9 0 417 524 428 81.7 0 428
— RFEH 2T 2FH 196 155 79. 1 0 155 191 150 78.5 0 150 215 178 82.8 0 178
[ B R 365 296 81.1 0 296 368 299 81.3 0 299 324 255 78.7 1 256
a4k - BREERE TR 224 182 81.3 0 182 177 145 81.9 0 145 204 168 82. 4 0 168
1, 290 1,027 79.6 0 1,027 1,258 1,011 80. 4 0 1,011 1,267 1,029 81.2 1 1,030
R R 451 365 80.9 0 365 442 356 80. 5 0 356 436 343 78.7 0 343
-~ SEER 434 356 82.0 0 356 444 354 79.7 1 355 442 314 71.0 1 315
P - BH PR 383 326 85. 1 1 327 391 332 84.9 0 332 406 325 80.0 0 325
SR 171 132 77.2 0 132 151 122 80.8 0 122 163 119 73.0 0 119
it 1,439 1,179 81.9 1 1,180 1,428 1,164 81.5 1 1,165 1,447 1,101 76. 1 1 1,102
HoEw 75 64 85.3 0 64 86 68 79.1 2 70 80 61 76.3 0 61
WELER 77 58 75.3 - 58 85 67 78.8 - 67 62 45 72.6 - 45
AR HTERBE R 97 72 74.2 - 72 107 85 79. 4 - 85 99 80 80. 8 - 80
TR B LR 189 141 74.6 - 141 165 130 78.8 - 130 157 125 79. 6 - 125
LT AU T IS TR 166 126 75.9 - 126 157 126 80. 3 - 126 135 100 74.1 - 100
Iy Rl 211 164 7.7 - 164 162 129 79.6 - 129 136 108 79. 4 - 108
B AT L TR 155 134 86.5 - 134 118 103 87.3 - 103 128 111 86. 7 - 111
T TR 121 87 71.9 - 87 124 102 82.3 - 102 95 77 81.1 - 77
A B R 95 81 85.3 - 81 96 87 90. 6 - 87 79 69 87.3 - 69
ANERAHE TR 54 49 90. 7 - 49 82 71 86. 6 - 71 81 71 87.7 - 71
at 1, 240 976 78.7 0 976 1,182 968 81.9 2 970 1,052 847 80. 5 0 847
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- R T EH ey BRE%) | RIS | FEERW | XETES G GRE %) | B | AEER | XETES G B %) | BRI | AREER
(A) (B) B/ A*100 #x (C) B+C (A) (B) B/ A%100 - (©) B+C (A) (B) B/ A*100 # () B+C
SCEFE NS R 1, 080 896 83.0 0 896 1, 140 937 82. 2 0 937 1,204 982 81.6 0 982
NG 1,080 896 83.0 0 896 1, 140 937 82. 2 0 937 1,204 982 81.6 0 982
P BURF R 178 143 80. 3 0 143 187 154 82. 4 0 154 171 150 87.7 0 150
[ BRBOR U bR 117 86 73.5 0 86 129 104 80. 6 0 104 133 109 82.0 0 109
at 295 229 77.6 0 229 316 258 81.6 0 258 304 259 85. 2 0 259
[EI B B EIBERR A
NG
I B AR R EI B A
NG
it 6,977 5, 708 81.8 5 5,713 6, 986 5, 743 82. 2 8 5, 751 7,027 5, 670 80. 7 10 5, 680
(]
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